FIRS
T TERMINAL ExAMINATION - JUNE 2012

Subject : Mathematics Max Mark
ax Marks : 10
Class : Xl
Time : 3h
Instructions R

gecnon A - Questions from 1 — 19 carries | mark each
\ ] . eac
ecn.on B - Questions from 11 — 23 carries 4 marks each
Sc;lcnon C — Questions 23 - 29 carries 6 marks each
4 .
miguesno.ns are compulsory however internal choices are given.
question paper contains 2 printed pages and 29 questions

N
ué\\'? Section A /AT
/ Find the value of sin(1020°%) ; ¥
. o,
/2./ Find the value of sinx if secx = 13/5 and x lies in the forth quadrant. g
W

A, Convert 120° to radian.

/ Find the length of the arc which subtends an angle of 35° at the centre of a circle with

radius18cm.

7 Find the modulus of 2-4i

/ Evaluate i*’+ RIBNC I

/7./If x+ 2i =-7 +4yi , find the value of x and y.
gB./ Find the multiplicative inverse of 1+i.
9/ Find the amplitude of 2-2i

| )0,1f2x+5>4-—x,$61vcforx
~ Section B

" Show that tan3x. tan2x . tanx = tan3x — tan2x - tanx

; ' cos4x+c0s3x+Cc0S2X
){. Prove that = cot3x

sin4x+sin3x+sin2x
“Solve sinx + sin3x + sin5x =0

e O’
' Evaluate 2cos’x +3sinx =0
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2_¢2 _sin [a-c]
14. In any AABC, prové that =77~ ~ sin [4+C]

OR

22
Prove that a(bcosC- ccosB)=b"-¢

; 2 )
Prove that cos4x = 1-8sin"x cos X

\/b’{lve 2x+y > 6, 3x Hy S 12, graphically.

)7.’ For every positive integer prove using PMI, that 7"- 4" is divisible by %, .3 .
OR

For all n>1, prove that 1435 e +(2n-1) = n’, by the method of PML.

/w Prove that n(n+1)(ri+5) is a multiple of 3

)9/ Find the square root of the complex number 3+4i.
OR

1+3i
Convert in to polar form =

2 Solie 2x2+x +1 =0.
1—2i
}I/Fmd the conjugate of

/22./Ifx+iy=-;:i—b, show that x +y2= 1.
' ! i

Section C -»* AT
COSACOS BT
’)G/Dcrive the relation cos(A-B) = cosAcosB + sinA smB(Ol) PT C‘Ds(ﬁ* )‘ -
y 2
;t{ In any triangle ABC, prove that L—sm.'ZA + E—-b—-- sin2B + —-——'Sm?.C 0
OR
_Find'sin(X/2), cos(X/Z) and tan(X/2) , if tanX = (- 4/3) and Xisin) the II quadrant
;{ Prove sing PML, 12423434 ...+ nat1) = nn1)eD
i e 1 n

{Prove usin PMI,
T g YRET GndGntz)  (6n+d)

y/Solve the system of inequalities graphically. x + 2y < 10, x+y=1,x-Y <0, Xy 2 >0.

= + u 3
28.If (x+1y) u+iv, then show that = - 42 == 4(x‘_ % ),2).

3 42isina
1-2isina is purely real.

OR
Find real A such that
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